

Active Duty, Reserve, & National Guard military personnel serving in the U.S. Armed Services and their eligible spouses.

### **ASSOCIATE DEGREES**

Program	Terms	Total Program Credits	Cost Per Credit Hour (See Note 1)	Total Program Cost (See Notes 2, 3, 4, & 5)
AS in Accounting	7	93	\$210	\$19,530
AS in Business Administration	7	93	\$210	\$19,530
AS in Health Administration Services	7	91.5	\$210	\$19,215
AS in Information Technology	7	93	\$210	\$19,530
AS in Management	8	93	\$210	\$19,530

### **BACHELOR'S DEGREES**

Program	Terms	Total Program Credits	Cost Per Credit Hour (See Note 1)	Total Program Cost (See Notes 2, 3, 4, & 5)
BS in Accounting	15	183	\$210	\$38,430
BS in Business Administration (See University Catalog for available concentrations)	14	180	\$210	\$37,800
BS in Computer Engineering*	14	186	\$210	\$40,160
BS in Computer Science (See University Catalog for available concentrations)	14	183	\$210	\$38,430
BS in Criminal Justice – (See University Catalog for available concentrations)	15	182	\$210	\$38,220
BS in Criminal Justice – Human Services Concentration	14	183	\$210	\$38,430



Active Duty, Reserve, & National Guard military personnel serving in the U.S. Armed Services and their eligible spouses.

Program	Terms	Total Program Credits	Cost Per Credit Hour (See Note 1)	Total Program Cost (See Notes 2, 3, 4, & 5)
BS in Cyber Security – (See University Catalog for available concentrations)	16	186	\$210	\$39,060
BS in Healthcare Management (See University Catalog for available concentrations)	15	180	\$210	\$37,800
BS in Information Systems Management	15	182	\$210	\$38,220
BS in Information Technology (See University Catalog for available concentrations)	15	184	\$210	\$38,640
BS in Management (See University Catalog for available concentrations)	14	180	\$210	\$37,800
BS in Project Management	14	180	\$210	\$37,800
BS in Psychology (See University Catalog for available concentrations)	14	182	\$210	\$38,220

<sup>\*</sup>The Bachelor of Science in Computer Engineering program includes a \$1,100 non-refundable engineering fee. See Note 6 for additional details.

# BACHELOR OF SCIENCE IN NURSING (RN TO BSN) COMPLETION PROGRAM

The Bachelor of Science in Nursing (RN-to-BSN) completion program provides several opportunities for prospective students to reduce the total program length and total tuition cost through credit for academic or other experiences. Upon receipt, official transcripts or other documentation will be reviewed by CTU's Registrar Evaluation Services Department to determine transfer credit eligibility into the RN-to-BSN program followed by any cost adjustments.

- Up to 90 quarter credits may be accepted as transfer credit with the required incoming Associate Degree in Nursing, Diploma Registered Nurse (RN), or a graduate-entry educational transition program preparing students for eligibility to become licensed as a Registered Nurse.
- 28.5 quarter credits may be awarded toward degree completion requirements for a valid Registered Nurse (RN) license.



Active Duty, Reserve, & National Guard military personnel serving in the U.S. Armed Services and their eligible spouses.

- Additional credits may be awarded for national nursing specialty certifications.
- An experiential learning portfolio may be reviewed for additional credit. Program credits and total program cost may be reduced if an experiential learning portfolio is approved for credit.

The table below provides examples of possible scenarios. The cost for each student will be determined after a review of credit opportunities listed above.

Bachelor of Science in Nursing (RN to BSN) Completion Program	Terms	Total Program Credits	Cost Per Credit Hour (See Note 1)	Total Program Cost (See Notes 2, 3, 4, & 5)
RN-BSN for Diploma of Nursing Graduates without national specialty nursing certification.	10	109.5	\$210	\$22,995
RN-BSN for Diploma of Nursing Graduates with national specialty nursing certification and work experience.	9	105.5	\$210	\$22,155
RN-BSN for Associate Degree in Nursing graduates without national specialty nursing certification.	5	61.5	\$210	\$12,915
RN-BSN for Associate Degree in Nursing graduates with national specialty nursing certification.	5	57.5	\$210	\$12,075

Total Program Cost and program length assume a student will be awarded the maximum credit for transfer, licensure, prior experiential learning, and professional certifications, will be continuously enrolled, and will satisfactorily complete all program requirements for graduation. Tuition and timing reflect an accelerated pace for the nursing component of the program. Additional courses, such as general education requirements, may be necessary dependent on credits transferred to CTU. Nursing students may be required to complete a background check prior to beginning their clinical work; any fees associated with the pre-clinical background check are the student's responsibility.

#### **MASTER'S DEGREES**



Active Duty, Reserve, & National Guard military personnel serving in the U.S. Armed Services and their eligible spouses.

Program	Terms	Total Program Credits	Cost Per Credit Hour (See Note 1)	Total Program Cost (See Notes 2, 3, 4, & 5)
MBA (See University Catalog for available concentrations)	6	48	\$460	\$22,080
MS in Accounting	6	48	\$460	\$22,080
MS in Computer Science (See University Catalog for available concentrations)	6	48	\$460	\$22,080
MS in Criminal Justice (See University Catalog for available concentrations)	6	48	\$460	\$22,080
MS in Cybersecurity Policy	6	48	\$460	\$22,080
MS in Healthcare Management (See University Catalog for available concentrations)	6	48	\$460	\$22,080
MS in Homeland Security (See University Catalog for available concentrations)	7	52	\$460	\$23,920
MS in Information Technology (See University Catalog for available concentrations)	6	48	\$460	\$22,080
MS in Management (See University Catalog for available concentrations)	6	48	\$460	\$22,080
MS in Nursing – Family Nurse Practitioner*	9	68	\$440	\$29,920
MS in Nursing – Nursing Administration and Nursing Education concentrations*	6	48	\$370	\$17,760

<sup>\*</sup>Nursing students may be required to complete a background check prior to beginning their clinical work; any fees associated with the pre-clinical background check are the student's responsibility.

#### FAMILY NURSE PRACTITIONER – POST GRADUATE CERTIFICATE

The table below provides examples of possible scenarios based on previous education received during the MSN program. The cost for each student will be determined after a review of MSN work completed before entering the program.



Active Duty, Reserve, & National Guard military personnel serving in the U.S. Armed Services and their eligible spouses.

Family Nurse Practitioner Post Graduate Certificate	Terms	Total Program Credits	Cost Per Credit Hour (See Note 1)	Total Program Cost (See Notes 2, 3, 4, & 5)
Students with an MSN degree in a non Advanced Practice Role	7	52	\$440	\$22,880
Students with an MSN degree in an Advanced Practice Role with practitioner focus other than Family	3	26	\$440	\$11,440

Total Program Cost and length displayed above assume a student will enter the program with the minimum or maximum prior MSN courses applicable to the CTU certificate, will be continuously enrolled, and will satisfactorily complete all program requirements for graduation. Nursing students may be required to complete a background check prior to beginning their clinical work; any fees associated with the pre-clinical background check are the student's responsibility.

### **DOCTORAL DEGREES\***

Program	Terms	Total Program Credits	Cost Per Credit Hour (See Note 1)	Total Program Cost (See Notes 2, 3, 4, 5, & 7)
Doctor of Business Administration (See University Catalog for available concentrations)	12	100	\$540	\$56,000
Doctor of Computer Science (See University Catalog for available concentrations)	12	100	\$540	\$56,000
Doctor of Computer Science (For students accepted under Provisional Enrollment, see University Catalog for more information)**	13	116	\$540	\$64,640
Doctor of Management (See University Catalog for available concentrations)	12	100	\$540	\$56,000

<sup>\*</sup>Doctoral students are required to attend two Doctorial Symposium events in their program. This includes a \$1,000 non-refundable Doctoral Symposium fee for each in-person event. See Note 7 for additional details.



Active Duty, Reserve, & National Guard military personnel serving in the U.S. Armed Services and their eligible spouses.

#### **DOCTOR OF NURSING PRACTICE\***

The Doctor of Nursing Practice program provides opportunities for prospective students to reduce the total program length and cost through credit from previous clinical practice. All DNP graduates must complete 1,000 clinical hours at the post-baccalaureate level. Five hundred of those hours will be clinical immersion hours completed while attending CTU. All DNP students are required to enter the program with at least 120 clinical hours. For students that do not have the remaining 380 clinical hours to transfer in, CTU provides DNP Transitions courses. Each Transitions course awards approximately 1 quarter credit hour per every 30 clinical practice hours. The table below provides examples of possible scenarios. The cost for each student will be determined after a review of the clinical hours completed before entering the program.

Doctor of Nursing Practice	Terms	Total Program Credits	Cost Per Credit Hour (See Note 1)	Total Program Cost (See Notes 2, 3, 4, 5, & 7)
MSN with 120 hours of clinical practice	9	62	\$540	\$35,480
MSN with 500 hours of clinical practice	7	49	\$540	\$28,460

<sup>\*</sup>Doctoral students are required to attend two Doctorial Symposium events in their program. This includes a \$1,000 non-refundable Doctoral Symposium fee for each in-person event. See Note 7 for additional details.

Total Program Cost and length displayed above assume a student will enter the program with a minimum or maximum clinical practice hours required, will be continuously enrolled, and will satisfactorily complete all program requirements for graduation. Nursing students may be required to complete a background check prior to beginning their clinical work; any fees associated with the pre-clinical background check are the student's responsibility.

#### **ADDITIONAL FEES**

<sup>\*\*</sup>Students accepted under provisional enrollment in the Doctor of Computer Science may be required to take up to four (4) additional college level preparatory courses before beginning their Doctoral courses. Please see University Catalog or contact an Admissions Advisor for more information.



Active Duty, Reserve, & National Guard military personnel serving in the U.S. Armed Services and their eligible spouses.

Fee Type	Fee Amount
Book Supplies & Course Materials Charge (See Note 2)	\$40 undergraduate programs / \$42 graduate program (waived)
Engineering Fee (See Note 6)	\$1,100
Doctoral Symposium Fee (See Note 7)	\$1,000
Graduation & Technology Fees (See Note 3)	N/A

#### NOTES:

- 1. Tuition is charged per credit hour at the beginning of each term throughout the student's program. Each academic term is 10 weeks and includes two 5 week sessions.
- 2. Book supplies and course materials charges are derived by taking a weighted net average cost per course multiplied by the number of courses in the term. The average cost of book supplies and course materials varies by degree type. For all students eligible for the military tuition rate, the book supplies and course materials charge will be posted to a student's account once each term, after the add/drop period. The charge will then be waived, resulting in no net cost to the student. The Total Program Cost includes a custom suite of course materials which are provided to the student by Words of Wisdom, LLC. At the University's discretion, books may be delivered in an electronic (e-Book), which may be accessed by the student for the duration of the applicable course(s) or standard textbook, which becomes the property of the student. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standard text books.
- 3. Total displayed Program Cost is based upon the total number of credits in a degree program. Fees charged by the University are included in the Total Program Cost. For all students eligible for the military tuition rate, the Graduation & Technology Fee are not charged and therefore not included in the Total Program Cost. The total number of credits taken at Colorado Technical University may vary due to transfer credits, block transfer, repeated courses, or multiple concentrations. Students possessing an earned Associate degree from an accredited institution at the time of admission to Colorado Technical University may be eligible for a block transfer of credits into select Bachelor's degree programs. See the Degree Programs section of the University Catalog for descriptions of the degree programs.
- 4. Military tuition rate cannot be combined with CTU scholarships/grants unless specifically noted in the University Catalog.
- 5. The University reserves the right to change tuition and fees during the course of an academic year. As such, a student's financial aid packaging may be subject to adjustment to account for these monetary changes.
- 6. For students enrolled in the Bachelor of Science in Computer Engineering program, a \$1,100 non-refundable Engineering Fee will be charged to the student's account in the term in which the student is registered for the first engineering (EE) course and is included in the Total Program Cost. This fee does not cover the cost of these required items: safety goggles, one Phillips head screwdriver, one flat head screwdriver, and one set of needle nose pliers with side cover; it is the student's responsibility to purchase these items. Engineering students are also responsible for purchasing any replacement parts listed on the Engineering Parts List; this list is available to students to assist in purchasing replacement parts.
- 7. A \$1,000 non-refundable Doctoral Symposium fee is charged to a student's account each term in which a student is registered for an in-person Doctoral Symposium event. This fee covers costs associated with hosting the symposium event including academic materials and supplies and is included in the Total Program Cost. Students attending the in-person Doctoral Symposium are responsible for paying for booking and paying their own travel and lodging expenses and therefore not covered by the Doctoral Symposium Fee. Doctoral students are



Active Duty, Reserve, & National Guard military personnel serving in the U.S. Armed Services and their eligible spouses.

required to attend two Doctorial Symposium events in their program. Students registered for the virtual Doctoral Symposium events offered by the University are not subject to the Doctoral Symposium Fee. Please see the Doctoral Symposium section of the University Catalog for more information.

### **Cost of Attendance**

The cost of attendance (COA), is the average academic year education-related cost for attending a program at an institution of higher education. Expected charges include direct costs, such as tuition and fees, and indirect costs, such as room and board, travel, books and supplies, and other personal expenses. The COA will differ based on various circumstances, such as your enrollment status and living situation. Students receiving Military Basic Allowance for Housing (BAH) should reference the 'BAH' components below. All other students should reference the 'Off-Campus' components below.

Below are the COA components for the 2025-26 academic year. At CTU, a full time academic year consists of three terms which is generally eight months in length.

	<b>BAH</b> Estimated COA	Off Campus Estimated COA			
Food and Housing <sup>1</sup>	\$2,920 per Academic Year	\$10,664 per Academic Year			
Travel <sup>1</sup>	\$1,032 per Academic Year				
Miscellaneous/Personal Expenses <sup>1</sup>	\$1,776 per Academic Year				
<sup>1</sup> Adjusted on 2 years averages of inflation, data based on the national averages from the "BLS Table 1800. Consumer Expenditure Survey					

2023": https://www.bls.gov/cex/tables/calendar-year/mean-item-share-average-standard-error/cu-region-1-year-average-2023.xlsx

#### **DISCLOSURE:**

The Total Program Costs listed in this document assume a student will be continuously enrolled, and will satisfactorily complete all program requirements for graduation. The Total Program Cost will increase due to academic failure of courses and/or withdrawals and drops. Transfer credit is evaluated on an individual basis. Not all credits are eligible to transfer. See the University Catalog for transfer credit policies and program availability. CTU cannot guarantee employment, salary or career advancement. Not all programs are available to residents of all states and certain foreign countries. **REQ2135013**=6/2025

Effective June 10, 2025